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CENTRAL WEST PIPELINE – ACCESS ARRANGEMENT    
 
CORRECTIONS AND ITEMS REQUIRING CLARIFICATION  
 
================================================================= = 
Under Section 1.1 Transportation Service, under the section headed MHQ, MDQ and 
ACQ 
 
 
Replace the following text in the first dot point:   
 

Normally, MHQ will be no greater than MDQ  x  24  /  1.2 
 
with the following:    
 

Normally, MHQ will be no greater than MDQ  /  24  x  1.2 
 
 
 
================================================================= = 
Under Section 3.1 Description of Reference Tariffs 
 
Replace the existing CPI – X formula  
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with the following formula: 
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and replace the text 
 

X means 0.06  
 
with  
 

X means 0.06 percent 
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================================================================= = 
Under section 3.4 Overrun Charges - Authorised Overruns 
 
 
The following existing text: 
 
• Where APT (NSW) agrees to an Authorised Overrun, the User may be required to 

pay an Authorised Overrun Charge, calculated as the Authorised Overrun Quantity 
multiplied by the Authorised Overrun Rate. 

 
 
is clarified as follows:  
 
• Where APT (NSW) agrees to an Authorised Overrun, the User may be required to 

pay an Authorised Overrun Charge (in addition to the Reference Tariff applied to its 
total volumes delivered), calculated as the Authorised Overrun Quantity multiplied by 
the Authorised Overrun Rate.  

 
 
================================================================= = 
Under section 3.5 Overrun Charges - Unauthorised Overruns 
 
 
The following existing text:  
 
• Where there is an Unauthorised Overrun, the User may be required to pay an 

Unauthorised Overrun Charge calculated by multiplying the Unauthorised Overrun 
quantity by the Unauthorised Overrun Rate. 

 
 
is clarified as follows:  
 
• Where there is an Unauthorised Overrun, the User may be required to pay an 

Unauthorised Overrun Charge (in addition to the Reference Tariff applied to its total 
volumes delivered), calculated by multiplying the Unauthorised Overrun Quantity by 
the Unauthorised Overrun Rate. 

 
 
 


